



St. Louis County, Minnesota

Date of Report: 12/15/2025 11:22:48 PM

**General Details** 

 Parcel ID:
 560-0011-05840

 Document:
 Abstract - 1395089

 Document Date:
 09/11/2020

Legal Description Details

Plat Name: VERMILION LAKE

Section Township Range Lot Block

36 61 16 - -

**Description:** NW1/4 of NE1/4, EXCEPT that part lying West of Township Road No. 4546; AND EXCEPT that part of NW1/4 of

NE1/4, lying Easterly of the centerline of Lempia Road, except for the North 720.00 feet thereof, as defined by a line

parallel to AND 720.00 feet distant from the north line of said NW1/4 of NE1/4.

**Taxpayer Details** 

Taxpayer Name ROEN KYLE W & GRAVNING DAVID D

and Address: 8494 LEMPIA RD
TOWER MN 55790

Owner Details

Owner Name GRAVNING DAVID D
Owner Name ROEN KYLE W

**Payable 2025 Tax Summary** 

2025 - Net Tax \$401.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$486.00

**Current Tax Due (as of 12/14/2025)** 

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$243.00	2025 - 2nd Half Tax	\$243.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$243.00	2025 - 2nd Half Tax Paid	\$243.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

**Parcel Details** 

Property Address: 8494 LEMPIA RD, TOWER MN

School District: 2142
Tax Increment District: Property/Homesteader: -

Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
151	0 - Non Homestead	\$35,600	\$15,200	\$50,800	\$0	\$0	-		
	Total:	\$35,600	\$15,200	\$50,800	\$0	\$0	508		





St. Louis County, Minnesota

Date of Report: 12/15/2025 11:22:48 PM

**Land Details** 

Deeded Acres: Waterfront: Water Front Feet: 0.00

W - DRILLED WELL Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

I ~4 \A/: al4la.

ot Width:	0.00							
ot Depth:	0.00							
he dimensions shown are n	ot guaranteed to be surve	ey quality. A	Additional lo	t information can be	e found at			
tps://apps.stlouiscountymn.	.gov/webPlatsIframe/frmF	<u> </u>	<u> </u>		ions, please email PropertyT	ax@stlouiscountymn.gov		
		•		etails (HOUSE	E)			
Improvement Type	Year Built	Main Floor Ft <sup>2</sup>		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc		
HOUSE	1940	468		819	-	1S+ - 1+ STORY		
Segment	Story	Width Length			Foundation			
BAS	1.7	18	26	468		POST ON GROUND		
Bath Count	Bedroom Count		Room (		Fireplace Count	HVAC		
1.0 BATH	2 BEDROOMS	AS 4 ROOMS		0 S	TOVE/SPCE, FUEL OIL			
	li I	mproven	nent 2 De	etails (SLEEPE	R)			
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc		
SLEEPER	0	20	0	200	-	<u>-</u>		
Segment	Story	Width	Length	Area	Foundation			
BAS	1	10	20	200	POST ON GF	ROUND		
LT	1	6	8	48	POST ON GROUND			
	Im	proveme	ent 3 Deta	ails (8X10 MET	AL)			
Improvement Type	Year Built	•		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc		
STORAGE BUILDING	0	80	)	80	-			
Segment	Story	Width	Length	Area	Foundation			
BAS	1	8	10	80	POST ON GROUND			
	In	nprovem	ent 4 De	tails (12X20 F <i>A</i>	AB)			
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc		
STORAGE BUILDING	0	24	0	240	-	-		
Segment	Story	Width	Length	Area	Foundat	ion		
BAS	1	12	20	240	POST ON GF	ROUND		
	lm	nprovem	ent 5 Det	ails (BLUE TAI	RP)			
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc		
STORAGE BUILDING	0	48	0	480	-	<u>-</u>		
Segment	Story	Width	Length	Area	Foundati	ion		
BAS	1	20	24	480	POST ON GF	ROUND		
	Ir	nnroven	nent 6 De	tails (DUTCH 1	TT)			
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc		
SLEEPER	0	240 240		-				
Segment	Story	Width	Length		Foundati	ion		
BAS	1	8	30	240	POST ON GF			





St. Louis County, Minnesota

Date of Report: 12/15/2025 11:22:48 PM

		Improveme	ent 7 Details	(8x10 METAL	)					
Improvement Typ	e Year Built	Main Flo	oor Ft <sup>2</sup> Gr	oss Area Ft ²	Baseme	nt Finish	Style	Code & Desc.		
STORAGE BUILDIN	IG 0	80	)	80		-		-		
Segme	nt Story	y Width	Length	Area		Founda	ition			
BAS	1	8	10	80		POST ON G	ROUND			
Improvement 8 Details (12x20 FAB)										
Improvement Typ				oss Area Ft <sup>2</sup>	Baseme	Basement Finish Style C				
STORAGE BUILDIN		24		240		-		-		
Segme	•		Length	Area		Foundation				
BAS	1	12	20	240		POST ON G	ROUND			
		Improvem	ent 9 Details	(BLUE TARP)						
Improvement Typ	e Year Built	Main Flo	oor Ft <sup>2</sup> Gr	oss Area Ft ²	Baseme	nt Finish	Style	Code & Desc.		
STORAGE BUILDIN	IG 0	48	0	480	0			-		
Segme	nt Story	y Width	Length	Area		Foundation				
BAS	1	20	24	480		POST ON G	ROUND			
Improvement 10 Details (DUTCH TT)										
Improvement Typ	e Year Built	Main Flo	oor Ft <sup>2</sup> Gr	oss Area Ft ²	Baseme	nt Finish	Style	Code & Desc.		
SLEEPER	0	24	0	240		=		-		
Segme	nt Story	y Width	Length	Length Area		Founda	ion			
BAS	1	8	30	240	POST ON GROUND					
		Sales Reported	to the St. Lo	ouis County A	uditor					
Sa	le Date		Purchase Pr	ice		CR	V Number			
09	9/2020		\$27,000			:	239580			
10	)/2019		\$20,000				234604			
30	3/2018		\$20,000				227794			
		As	ssessment H	History						
Class				de Total		Def	Def	–		
Year	Code ( <mark>Legend</mark> )	Land EMV	Bldg EMV	Total EMV		Land EMV	Bldg EMV	Net Tax Capacity		
	151	\$35,600	\$15,200	\$50,80	0	\$0	\$0	-		
2024 Payable 2025	Total	\$35,600	\$15,200	\$50,80	0	\$0	\$0	508.00		
		\$30,400	\$30,400 \$2,800		0	\$0	\$0	-		
2023 Payable 2024	Total	\$30,400	\$2,800	\$33,20	0	\$0	\$0	332.00		
	151	\$26,500	\$2,400	\$28,90	0	\$0	\$0	-		
2022 Payable 2023	Total	\$26,500	\$2,400	\$28,90	0	\$0	\$0	289.00		
	151	\$18,600	\$2,200	\$20,80	0	\$0	\$0	-		
2021 Payable 2022	Total	\$18,600	\$2,200	\$20,80	0	\$0	\$0	208.00		
Tax Detail History										
Tax Year	Tax	Special Assessments	Total Tax 8 Special Assessmen			Гахаble Buil MV		al Taxable MV		
2024	\$269.00	\$85.00	\$354.00	\$30,40	00	\$2,800		\$33,200		
2023	\$255.00	\$85.00	\$340.00	\$26,50	00	\$2,400		\$28,900		
	\$207.00	\$85.00	\$292.00	\$18,60	_	\$2,200	\$20,800			





St. Louis County, Minnesota

Date of Report: 12/15/2025 11:22:48 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.